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Ogadel AlaEt| 4,600,000& 123 55,200 50,400 4,800
O 2HAIHI(H|2Hate)
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2 246,329 256,342 10,013
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M IItHZ2HSE 140 420 N280
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201 ZB=EYI 41,182 47,772 26,590
01 A2l 40,182 46,772 26,590
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OFaxgo 2ol S| 800 1,400 AB00
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OS8z29z0s WKHHI(LSALSSTPEA

) 180,000 3% 540 720 A180
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SAoISFKIRA 150,945 148,745 2,200
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< 2,100 2,700 2600
= 4,900 6,300 21,400
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0122 & /=] 7,000 9,000 22,000
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[ 2,100 2,700 2600
= 4,900 6,300 21,400
A At AZ 22| KA 8,400 12,000 23,600
2l 4,200 6,000 21,800
[ 2,100 3,000 2900
= 2,100 3,000 2900
307 2Ito1d 8,400 12,000 23,600
pJ 4,200 6,000 21,800
< 2,100 3,000 2900
= 2,100 3,000 2900
0122 & 3=l 8,400 12,000 23,600
ol AtEAZ2e| X3 8,400 12,000 23,600
pJ 4,200 6,000 A1,800
< 2,100 3,000 2900
= 2,100 3,000 2900
FogesLs 722,922 723,106 N84
= 14,880 14,380 500
Jl 244,935 242,235 2,700
[ 85,140 84,640 500
= 377,967 381,851 13,884
ZEEaACIAY 29 6,524 7,064 2540
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2EHUS LS 31,100 31,744 1644
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01 Al22t2|l 28,940 29,584 NB44
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ZISOI0HIH 2o ael 5,400 5,400 0
bl 5,400 2,700 2,700
= 0 2,700 A2,700
201 LEH29Y| 4,700 0 4,700
bl 4,700 0 4,700
01 Al22t2|H| 4,700 0 4,700
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=t 4,700241,00074 4,700 4,700
bl 4,700 4,700
206 24| 700 5,400 A4,700
bl 700 2,700 2,000
= 0 2,700 A2,700
01 24| 700 5,400 A4, 700
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(= 13,680 13,180 500
307 QI2+0|& 27,360 26,360 1,000
= 13,680 13,180 500
[ 13,680 13,180 500
0122 L 32| 27,360 26,360 1,000
OZZLIHI0I2{A 19 Z2|Y/R 2| XA 27,360 26,360 1,000
= 13,680 13,180 500
[ 13,680 13,180 500
AN 2AAY (S Z X2 Dt) 680,234 774,934 A4, 700
bl 273,713 263,713 10,000
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o224
12,5002 *50%+6 % «B0A| 2+ 128 36,260 44,856 N8,5%
—eiag 50,0002 x6& * 122 3,600 4,200 AB00
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01 sNExSEHES 35,611 0 35,611
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